Prepared by	ehs				_										
Solicitatio	on No.: B-12-	-022-DD	Contract No: C-12-039-DD		Ltd									Inc.	
			NTONIO WATER SYSTEM		lexas 16						JC.			& Ditching, Inc /er 489 X 78602	
								Inc.	6		Merryman Excavation, Inc 1501 Lamb Road	L 60098		hin 2	
		P. O. BO	X 2449 TONIO, TEXAS 78298-2449		of J 200 782			Layne Heavy Civil, Inc 1775 E. 69th Ave. Denver, CO 80229			tion oad	200	ap Backhoe & Ditchi P.O. Drawer 489 Bastrop, TX 78602		
					ion TX			Civ th ∌	80		o R	Ë		& I er ⁷	
		TABULA	ATION OF BIDS		tructio orene nio, T			vy (69t	CO		Excav Lamb	lk,]			
PROPOS	SAL:	Regional	Carrizo Project: Water Supply Pipeline		lstr Lo oni			lea Е.	er,		п Е	toc		Dr Dr, Dp,	
		-			s Construction 9862 Lorene # n Antonio, TX			ie F 775	vne		yman 1501	spo		3ac .O.	
								ayn 17	ď		1.	Woodstock, II		schap Backhoe P.O. Draw Bastrop, T	
		Job # 10-	8620-207		ouis 9 San			Ц			Me	-		scha	
TIME &		10:00 A.M	М		S.J. I									Hers	
					Š		1						Ξ. Ξ.		
DATE:	1	June 1, 20	012									1	<u> </u>		
	Estimate		Description												
No.	Qty	Issue	(Unit Price to be Written in Words)	Unit Price	ŀ		Unit Price		Total	Unit Price		Total	Unit Price	Total	
1	1	TC	Erosion and Sedimentation Controls (SW3P)	\$77,000.00		\$77,000.00	\$50,000.00		\$50,000.00	¢<0.000.00		\$60,000.00	¢154.000.00	¢154.000.00	
1	1		Restrained Water Main - 36 inch HDPE Pipe	\$77,000.00	F	\$77,000.00	\$50,000.00		\$50,000.00	\$60,000.00		\$60,000.00	\$154,000.00	\$154,000.00	
2-A	21,454	LF	(PE4710 DR11)	\$201.00		\$4,312,254.00	\$184.00		\$3,947,536.00	\$210.00		\$4,505,340.00	\$206.00	\$4,419,524.00	
211	21,131	1.1	Restrained Water Main - 36 inch HDPE Pipe	φ201.00	-	\$1,512,251.00	\$101.00		φ3,517,550.00	φ210.00		\$ 1,505,510.00	\$200.00	φ1,119,521.00	
2-B	9,825	LF	(PE4710 DR13.5)	\$178.00		\$1,748,850.00	\$161.00		\$1,581,825.00	\$185.00		\$1,817,625.00	\$178.00	\$1,748,850.00	
			Restrained Water Main - 36 inch HDPE Pipe		Γ										
2-C	8,832	LF	(PE4710 DR17)	\$156.00	ļ	\$1,377,792.00	\$142.00		\$1,254,144.00	\$160.00		\$1,413,120.00	\$162.00	\$1,430,784.00	
2.4	272		Restrained Water Main Installed in Casing Pipe - 36	¢1.c1.00		¢ <0.052.00	¢ 0 04.00		¢7< 000 00	¢ 2 00.00		¢104 440 00	¢212.00	¢70,440,00	
3-A	373		inch HDPE Pipe (PE4719 DR11) Restrained Water Main Installed in Casing Pipe - 36	\$161.00	F	\$60,053.00	\$204.00		\$76,092.00	\$280.00		\$104,440.00	\$213.00	\$79,449.00	
3-B	536		inch HDPE Pipe (PE4719 DR17)	\$113.00		\$60,568.00	\$152.00		\$81,472.00	\$215.00		\$115,240.00	\$160.00	\$85,760.00	
0.2	000		Jacking or Boring 54-inch Steel Casing for 36-inch	¢110100	F	\$00,200100	\$1 0 2100		\$01,17 <u>2</u> 100	¢210100		¢110,210100	\$100100		
4	909	LF	Carrier Pipe	\$700.00		\$636,300.00	\$1,000.00		\$909,000.00	\$810.00		\$736,290.00	\$550.00	\$499,950.00	
5	40,111		Trench Excavation Safety Protection	\$0.01		\$401.11	\$1.00		\$40,111.00	\$2.00		\$80,222.00	\$2.50	\$100,277.50	
6	7		36-inch Isolation Butterfly Valve	\$163,000.00		\$1,141,000.00	\$190,000.00		\$1,330,000.00	\$178,000.00		\$1,246,000.00	\$232,000.00	\$1,624,000.00	
7	7		6-inch Air Valve Assembly Type 1	\$92,000.00	ļ	\$644,000.00	\$71,000.00		\$497,000.00	\$91,000.00		\$637,000.00	\$122,000.00	\$854,000.00	
8	7		Pipe Drain Structure Type 1 36-inch Final Closure Assembly	\$117,000.00	ŀ	\$819,000.00	\$99,000.00		\$693,000.00 \$135,000.00	\$120,000.00		\$840,000.00	\$150,000.00	\$1,050,000.00	
9 10			Hydrostatic Testing	\$1.00 \$40,000.00	ŀ	\$2.00 \$40,000.00	\$67,500.00 \$40,000.00		\$135,000.00	\$64,000.00 \$50,000.00		\$128,000.00 \$50,000.00	\$15,000.00 \$15,000.00	\$30,000.00 \$15,000.00	
10	1			φ+0,000.00	ŀ	φ + 0,000.00	φ+0,000.00		φ+0,000.00	φ50,000.00		\$50,000.00	φ13,000.00	\$15,000.00	
11-A	21,564	LF	Restoration & Revegetation - Native	\$1.75		\$37,737.00	\$25.00		\$539,100.00	\$2.00		\$43,128.00	\$1.00	\$21,564.00	
11-B	3,510		Restoration & Revegetation - Tifton 85	\$1.75	F	\$6,142.50	\$30.00		\$105,300.00	\$8.00		\$28,080.00	\$4.00	\$14,040.00	
			Restoration & Revegetation - Blue Stem Mixture		F										
11-C	8,747	LF	(Medio)	\$1.75	L	\$15,307.25	\$6.00		\$52,482.00	\$8.00		\$69,976.00	\$2.00	\$17,494.00	
11-D	1,900	LF	Restoration & Revegetation - Coastal Bermuda	\$1.75		\$3,325.00	\$11.50		\$21,850.00	\$8.00		\$15,200.00	\$5.00	\$9,500.00	
11-E	4,484	LF	Restoration & Revegetation - JigStem Coastal	\$1.75	ļ	\$7,847.00	\$12.00		\$53,808.00	\$8.00		\$35,872.00	\$4.00	\$17,936.00	
11 5	20		Postoration & Pourostation Dermit Com-	¢ 40.00		¢1 530 00	<i>6 < 00</i>		#000 00	¢10.00		A (0.4.00	¢ 40.00	#1 50 0 00	
11-F	38	LF	Restoration & Revegetation - Bermuda Grass	\$40.00	ŀ	\$1,520.00	\$6.00		\$228.00	\$18.00		\$684.00	\$40.00	\$1,520.00	
12-A	1,566	LF	Remove and Replace Fence (including gates)	\$10.00	Ļ	\$15,660.00	\$5.00		\$7,830.00	\$15.00		\$23,490.00	\$25.00	\$39,150.00	
		_													
12-B	160	LF	Remove Fence (no fence replacement or gates)	\$1.00	L	\$160.00	\$2.50		\$400.00	\$5.00		\$800.00	\$3.00	\$480.00	

Prepared by ehs														
Solicitation No.: B-1	2-022-DD Contract No: C-12-039-DD	Construction of Texas Ltd 862 Lorene #200 Antonio, TX 78216									ap Backhoe & Ditching, Inc. P.O. Drawer 489 Bastrop, TX 78602			
	SAN ANTONIO WATER SYSTEM		of Texa 200 78216			. Inc.			Merryman Excavation, Inc 1501 Lamb Road	86		ning. 2		
	P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449		struction of 1 Lorene #200 nio, TX 782			Layne Heavy Civil, Inc. 1775 E. 69th Ave.	0229		Lamb Road	60098		Ditc 489 860		
	TABULATION OF BIDS		ction ene # , TX			y Ci 9th	8 0		cava nb R	Н,		& I & I wer 'X 7		
PROPOSAL:	Regional Carrizo Project: Water Supply Pipeline		struc Lore onio			eavy E. 6	r, C		Lan	Woodstock, IL		choe Drav n, T	~	
i koi obrill.	Regional Carrizo Project. Water Supply Pipeline		s Cons 9862 n Anto			ne H 775	enve		yman 1501	odst		Back .O.		
	Job # 10-8620-207					Layr	Ă		erry 1	Wo		lap] P Ba		
			S.J. Louis 9 San						М		Herschap Backhoe P.O. Drav Bastrop, T			
TIME &	10:00 A.M.		S.J											
DATE:	June 1, 2012													
Item Estimat	e Unit of Description													
No. Qty	Issue (Unit Price to be Written in Words)	Unit Price			Unit Price			Unit Price		Total	Unit Price		Total	
12-C 215 12-D 90		\$5.00 \$10.00		\$1,075.00 \$900.00	\$5.00 \$25.00		\$1,075.00 \$2,250.00	\$15.00 \$20.00		\$3,225.00	\$13.00 \$24.00		\$2,795.00 \$2,160.00	
12-D 90		\$5.00		\$500.00	\$25.00		\$2,500.00	\$8.00		\$800.00	\$12.00		\$1,200.00	
12 1	LS Installation and Maintenance of Traffic Management	\$15,000.00		\$15,000,00	\$50,000.00		\$50,000.00	\$10,000.00		\$10,000.00	\$2,000,00		\$2,000.00	
13 1		\$13,000.00		\$15,000.00	\$30,000.00		\$30,000.00	\$10,000.00		\$10,000.00	\$2,000.00		\$2,000.00	
14 5,649	LF Tree Protection	\$2.00		\$11,298.00	\$1.00	b e	\$5,649.00	\$2.00	Percentage	\$11,298.00	\$3.00	Percentage	\$16,947.00	
			ge			Percenta			Ita			Ita		
15-A 167	V SY Concrete Driveway (no culvert)	\$60.00	ta	\$10,020.00	\$60.00	en	\$10,020.00	\$115.00	en	\$19,205.00	\$40.00	en	\$6,680.00	
15-B 167	SY Concrete Driveway (with culvert)	\$150.00	centage	\$25,050.00	\$110.00	irc	\$18,370.00	\$110.00	irc	\$18,370.00	\$41.00	ICC	\$6,847.00	
13-B 107		\$150.00	rc	\$25,050.00	\$110.00	Pe	\$18,370.00	\$110.00	Pe	\$18,370.00	\$41.00	Pe	\$0,847.00	
16-A 241	SY Flexible Base Driveway (no culvert)	\$25.00	Per	\$6,025.00	\$20.00		\$4,820.00	\$25.00		\$6,025.00	\$9.00		\$2,169.00	
		¢20.00		\$0,025.00	\$ 20.00		\$1,020.00	¢20.00		\$0,020.00	φ3.00		\$2,105.00	
16-B 36	5 SY Flexible Base Driveway (with culvert)	\$115.00		\$4,140.00	\$90.00		\$3,240.00	\$160.00		\$5,760.00	\$15.00		\$540.00	
16-C 672	SY Flexible Base Road	\$25.00		\$16,800.00	\$20.00		\$13,440.00	\$14.00		\$9,408.00	\$17.00		\$11,424.00	
16-D 920	SY Flexible Base Road Repair	\$20.00		\$18,400.00	\$20.00		\$18,400.00	\$15.00		\$13,800.00	\$17.00		\$15,640.00	
17 56	5 EA Pipeline Markers	\$200.00		\$11,200.00	\$700.00		\$39,200.00	\$430.00		\$24,080.00	\$75.00		\$4,200.00	
				* • • • • • •	** • •			†2 00		.	† 0.00		* 1 22 1 22	
18-A 612	2 LF Temporary Protective Fencing	\$1.25		\$765.00	\$5.00		\$3,060.00	\$2.00		\$1,224.00	\$8.00		\$4,896.00	
18-B 29,507	LF Temporary Protective Fencing for Revegetation	\$1.25		\$36,883.75	\$2.00		\$59,014.00	\$2.00		\$59,014.00	\$2.00		\$59,014.00	
10-10 29,307		φ1.23		φ30,003.73	φ2.00		φ <i>57</i> ,014.00	\$2.00		φ39,014.00	φ2.00		φ39,014.00	
19 1	LS Relocate/Reconnect Concrete Water Basin	\$10,000.00		\$10,000.00	\$2,000.00		\$2,000.00	\$2,200.00		\$2,200.00	\$4,000.00		\$4,000.00	
		φ10,000.00		φ10,000.00	ψ2,000.00		φ2,000.00	φ2,200.00		φ2,200.00	φ 1 ,000.00		φ+,000.00	
20-A 1	EA Stainless Steel Bend (36" x 11.25° Bend)	\$50,000.00		\$50,000.00	\$22,500.00		\$22,500.00	\$53,000.00		\$53,000.00	\$52,000.00		\$52,000.00	
2011		φ.50,000.00		φ30,000.00	<i>422,300.00</i>		φ22,500.00	<i>455</i> ,000.00	l	φ.53,000.00	<i>452</i> ,000.00		φ <i>52</i> ,000.00	

Prepared by	ehs															
Solicitatio	on No.: B-12-0)22-DD	Contract No: C-12-039-DD		s Ltd								Inc.			
	2	SAN AI	NTONIO WATER SYSTEM	lexa 16			i.				Merryman Excavation, Inc. 1501 Lamb Road	86	iing,			
	P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449				t of Tex 4200 78216				Layne Heavy Civil, Inc. 1775 E. 69th Ave. Denver, CO 80229			60098	& Ditching, Inc /er 489 X 78602			
			ATION OF BIDS		ction ene # 0, TX			y Ci 9th	8 0		cava nb R	Г, П				
PROPOS	AL: I	Regional	Carrizo Project: Water Supply Pipeline		Construction of Texas 862 Lorene #200 Antonio, TX 78216			Heav E. 6	er, C		n Ex I Lar	stock		Herschap Backhoe & Ditchir P.O. Drawer 489 Bastrop, TX 78602		
					s Con 9862 n Ant			/ne F 1775	Jenv		yma 1501	Woodstock, IL		b Bac P.O. Bastr		
	J	Job # 10-	8620-207		Louis 9 San			Lay	Π		Merr	×		chap E		
TIME &	1	10:00 A.I	М.		S.J. I									Hers		
DATE:	J	June 1, 20	012		U 1			1								
Itom	Estimate	[]nit of	Description													
		Issue	_	Unit Price			Unit Price		Total	Unit Price		Total	Unit Price		Total	
20-B	1	EA	Stainless Steel Bend (36" x 45° Bend)	\$53,000.00		\$53,000.00	\$22,500.00		\$22,500.00	\$56,000.00		\$56,000.00	\$56,000.00		\$56,000.00	
21	8	EA	Concrete Retard	\$1,000.00		\$8,000.00	\$800.00		\$6,400.00	\$5,600.00		\$44,800.00	\$1,000.00		\$8,000.00	
22	10	LF	2-inch Waterline Replacement	\$30.00		\$300.00	\$3.00		\$30.00	\$170.00		\$1,700.00	\$15.00		\$150.00	
	10			420100			\$2100			¢170000		<i></i>	¢10100			
23	20	LF	Additional Pipe Bedding Koch Pipeline Crossing	\$60.00		\$1,200.00	\$85.00		\$1,700.00	\$370.00		\$7,400.00	\$40.00		\$800.00	
24	500	LF	Filter Fabric	\$2.00		\$1,000.00	\$5.00		\$2,500.00	\$18.00		\$9,000.00	\$3.00		\$1,500.00	
				* ***		* • • • • •	AZ 00		** * **	** *		***	* 1 * 00		*= = = = = =	
25	500	LF	Gravel Subgrade Filter Bid Allowance for Owner-directed road repair at	\$10.00		\$5,000.00	\$5.00		\$2,500.00	\$25.00		\$12,500.00	\$15.00		\$7,500.00	
			existing county roads created by the Contractor as required by County Representative and approved by													
26	1	LS	SAWS (see Specification 01020)	\$100,000.00		\$100,000.00	\$100,000.00		\$100,000.00	\$100,000.00		\$100,000.00	\$100,000.00		\$100,000.00	
100	1	LS	SUBTOTAL BASE BID AMOUNT Mobilization	\$683,488.54	6.0%	\$11,391,475.61 \$683,488.54	\$584,784.00	5.0%	\$11,807,346.00 \$584,784.00	\$1,200,000.00	9.66%	\$12,421,116.00 \$1,199,879.81	\$1,257,974.00	10%	\$12,579,740.50 \$1,257,974.05	
100	1	LS	Preparing Right-of-Way	\$341,744.27	3.0%	\$341,744.27	\$229,000.00	1.9%	\$229,000.00	\$600,000.00	4.83%	\$599,939.90		5%	\$628,987.03	
			Mobilization & Preparing Right of Way Sub													
			Total			\$1,025,232.80			\$12,492,130.00		I	\$13,720,995.81			\$1,886,961.08	
			TOTAL BID AMOUNT - (MOBILIZATION & PREPARING RIGHT OF WAY) Including													
			Addendum 1, 2, 3, 4, 5 & 6			\$12,416,708.41			\$12,621,130.00			\$14,220,935.71			\$14,466,701.58	
CALEN	DAR DAYS	<u>S TO CO</u>	MPLETE			10/31/2013			10/31/2013			10/31/2013			10/31/2013	
						[1]			[2]			[3]			[4]	

Prepared by e	ehs									
Solicitatio	n No.: B-12-	022-DD	Contract No: C-12-039-DD		Inc.					
		SAN A	NTONIO WATER SYSTEM		Constructors, Inc amid Ct, #100 CO 80112					
		P. O. BO	¥ 2440		tructors,] Ct, #100 80112			Mountain Cascade, Inc 555 Exchange Ct Livermore, CA 94550		Holloman Corporation 13730 IH 10 East Converse, TX 78109
			X 2449 TONIO, TEXAS 78298-2449		Summit Construe Mt. Pyramid Ct, alewood CO 802			de, 945		lloman Corporatior 13730 IH 10 East onverse, TX 78109
			ATION OF BIDS		rn Summit Cons 80 Mt. Pyramid Fnolewood CO			ang CA		X 7
		IADUL			t C Tan			Cas cha e, C		, T
PROPOS	AL:	Regional	Carrizo Project: Water Supply Pipeline		Summit Mt. Pyr. elewood			Ex Ex nor		folloman Corp 13730 IH 10 Converse, TX
					hur Mt.			Mountain 555 Ex Livermor		Jon 37,
						10 1		Aou 5 Liv		Hol Co
		Job # 10-	8620-207		Western 9780 Fn	-		2		—
TIME &		10:00 A.I	М.		We					
DATE.		June 1, 2	012		-					
DATE:		Julie 1, 2								
Itom	Estimate	Unit of	Description							
		Issue	(Unit Price to be Written in Words)	Unit Price		Total	Unit Price	Total	Unit Price	Total
110.	Qıy	15500	(Out The to be written in words)			Total		Total	Ontrice	
1	1	LS	Erosion and Sedimentation Controls (SW3P)	\$250,068.00		\$250,068.00	\$244,000.00	\$244,000.00	\$94,000.00	\$94,000.00
		~	Restrained Water Main - 36 inch HDPE Pipe				+_ + , + + + + + + + + + + + + + + + + +			+> 1,000000
2-A	21,454	LF	(PE4710 DR11)	\$233.00		\$4,998,782.00	\$225.00	\$4,827,150.00	\$224.00	\$4,805,696.00
			Restrained Water Main - 36 inch HDPE Pipe							
2-B	9,825	LF	(PE4710 DR13.5)	\$198.00		\$1,945,350.00	\$200.00	\$1,965,000.00	\$199.00	\$1,955,175.00
2-C	8,832	LF	Restrained Water Main - 36 inch HDPE Pipe (PE4710 DR17)	¢219.00		\$1.025.276.00	\$190.00	¢1.590.760.00	¢170.00	¢1 501 440 00
2-C	8,832	LF	Restrained Water Main Installed in Casing Pipe - 36	\$218.00		\$1,925,376.00	\$180.00	\$1,589,760.00	\$170.00	\$1,501,440.00
3-A	373	LF	inch HDPE Pipe (PE4719 DR11)	\$517.00		\$192,841.00	\$423.00	\$157,779.00	\$305.00	\$113,765.00
011	010		Restrained Water Main Installed in Casing Pipe - 36	<i>QUINOU</i>		¢1)_,01100	¢ 1201000		<i>\$2.00100</i>	÷110,700100
3-B	536	LF	inch HDPE Pipe (PE4719 DR17)	\$226.00		\$121,136.00	\$321.00	\$172,056.00	\$248.00	\$132,928.00
			Jacking or Boring 54-inch Steel Casing for 36-inch							
4	909	LF	Carrier Pipe	\$922.00		\$838,098.00	\$1,041.00	\$946,269.00		\$666,297.00
5	40,111	LF	Trench Excavation Safety Protection	\$1.00		\$40,111.00	\$1.00	\$40,111.00		\$40,111.00
6	7	EA	36-inch Isolation Butterfly Valve	\$172,651.00		\$1,208,557.00	\$150,000.00	\$1,050,000.00		\$1,214,500.00
7	7	EA	6-inch Air Valve Assembly Type 1	\$70,508.00		\$493,556.00	\$75,000.00	\$525,000.00	\$113,900.00	\$797,300.00
8 9	2	EA EA	Pipe Drain Structure Type 1 36-inch Final Closure Assembly	\$83,686.00 \$64,128.00		\$585,802.00 \$128,256.00	\$88,000.00 \$30,000.00	\$616,000.00) \$134,500.00) \$10,500.00	\$941,500.00 \$21,000.00
10	2	LS	Hydrostatic Testing	\$49,918.00		\$49,918.00	\$20,000.00	\$20,000.00		\$89,300.00
10	1	LS		ψ+9,910.00		φ+9,910.00	\$20,000.00	\$20,000.00	φ07,500.00	\$67,500.00
11-A	21,564	LF	Restoration & Revegetation - Native	\$3.50		\$75,474.00	\$19.00	\$409,716.00	\$48.00	\$1,035,072.00
11-B	3,510		Restoration & Revegetation - Tifton 85	\$2.00		\$7,020.00	\$18.00	\$63,180.00		\$105,300.00
			Restoration & Revegetation - Blue Stem Mixture							
11-C	8,747	LF	(Medio)	\$2.00		\$17,494.00	\$4.00	\$34,988.00	\$6.00	\$52,482.00
11-D	1,900	LF	Restoration & Revegetation - Coastal Bermuda	\$2.00		\$3,800.00	\$7.00	\$13,300.00	\$12.00	\$22,800.00
11-E	4,484	LF	Restoration & Revegetation - JigStem Coastal	\$2.00		\$8,968.00	\$7.00	\$31,388.00	\$12.00	\$53,808.00
11 5	20		Destantian & Descartation Deschool	*121 00			* 4 < 6 0		*7 < 0.0	** 000 00
11-F	38	LF	Restoration & Revegetation - Bermuda Grass	\$121.00		\$4,598.00	\$46.00	\$1,748.00	\$76.00	\$2,888.00
12-A	1,566	LF	Remove and Replace Fence (including gates)	\$31.00		\$48,546.00	\$32.00	\$50,112.00	\$19.00	\$29,754.00
12-B	160	LF	Remove Fence (no fence replacement or gates)	\$5.00		\$800.00	\$8.00	\$1,280.00	\$4.00	\$640.00

Prepared by	ehs											
Solicitatio	on No.: B-12-	-022-DD	Contract No: C-12-039-DD		Inc.							
		SAN AI	NTONIO WATER SYSTEM		rs, J 100	N		i o			-	
		P. O. BO	X 2449		Western Summit Constructors, Inc. 9780 Mt. Pyramid Ct, #100 Englawood CO 80112			Mountain Cascade, Inc. 555 Exchange Ct Livermore, CA 94550			Holloman Corporation 13730 IH 10 East Converse TX 78109	601
			TONIO, TEXAS 78298-2449		nstr id C 8			untain Cascade, I 555 Exchange Ct vermore, CA 9455			olloman Corporati 13730 IH 10 East onverse TX 7810	0
		TABULA	ATION OF BIDS		Col	5		Casc than , C∕			Cor TX	5
PROPOS	SAL:	Regional	Carrizo Project: Water Supply Pipeline		Pyr Pyr			Mountain Casca 555 Exchang Livermore, CA			<pre>folloman Corp 13730 IH 10 Converse TX</pre>	150,
		-			Mt.			unta 55 err			lom 373 nve	
		Job # 10-	8620 207		rn S [08 Fno			Mou 5 Liv			Hol 1 Co	3
					este 97							
TIME &		10:00 A.I	М.		Ň							
DATE:	1	June 1, 20	012			1		1	1			
Item No.	Estimate Qty	Unit of Issue	Description (Unit Price to be Written in Words)			T-4-1			T-4-1			T-4-
12-C	215	LF	Remove and Replace Fence (no gates)	Unit Price \$13.00		Total \$2,795.00	Unit Price \$24.00		Total \$5,160.00	Unit Price \$16.00		Tota
12-C 12-D	90	LF	Install Fence (including gates)	\$35.00		\$3,150.00	\$32.00		\$2,880.00	\$69.00		-
12-E	100	LF	Install Fence (no gates)	\$10.00		\$1,000.00	\$16.00		\$1,600.00	\$10.00		
			Installation and Maintenance of Traffic Management	.								
13	1	LS	and Controls	\$16,448.00		\$16,448.00	\$5,000.00		\$5,000.00	\$14,200.00		<u> </u>
14	5,649	LF	Tree Protection	\$10.00	Percentage	\$56,490.00	\$4.00	Percentage	\$22,596.00	\$2.00	Percentage	
					ğ			ğ			ğ	
15-A	167	SY	Concrete Driveway (no culvert)	\$115.00	nt	\$19,205.00	\$96.00	nt	\$16,032.00	\$100.00	nt	
					Ce			Ce			Ce	
15-B	167	SY	Concrete Driveway (with culvert)	\$154.00		\$25,718.00	\$154.00	L L	\$25,718.00	\$200.00	Ĵ	
10 0	107	51		φ10 H00	L L	\$20,710.00	\$15 Hoo	L L	\$25,710.00	¢200.00	L	
16.4	2.41	CN/	Flexible Base Driveway (no culvert)	¢25.00		¢9,425,00	¢14.00		¢2.274.00	¢22.00	, ,	
16-A	241	SY	Flexible Base Driveway (no cuivert)	\$35.00		\$8,435.00	\$14.00		\$3,374.00	\$23.00		
16-B	36	SY	Flexible Base Driveway (with culvert)	\$110.00		\$3,960.00	\$15.00		\$540.00	\$78.00		
16-C	672	SY	Flexible Base Road	\$28.00		\$18,816.00	\$35.00		\$23,520.00	\$14.00		
16-D	920	SY	Flexible Base Road Repair	\$25.00		\$23,000.00	\$18.00		\$16,560.00	\$14.00		
17	56	EA	Pipeline Markers	\$361.00		\$20,216.00	\$180.00		\$10,080.00	\$385.00		
			*	\$201.00		\$20,210.00	\$100.00		\$10,000.00	<i><i><i><i>q</i>csc<i>scscscscscscscscscsc<i>scscsc<i>scscscscsc<i>scscscscscscsc<i>scscsc<i>scscscscsc<i>scscsc<i>scscsc<i>scscsc<i>scscsc<i>scscscsc<i>scscscsc<i>scscscsc<i>sc<i>sc<i>scscscscsccscscscscscscscscscsc</i></i></i></i></i></i></i></i></i></i></i></i></i></i></i></i></i></i></i>		
10 A	612	LF	Temporary Protective Fencing	\$7.00		\$4,284.00	¢2.00		¢1 022 00	¢0.00		
18-A	012			\$7.00		\$4,284.00	\$3.00		\$1,836.00	\$9.00		-
18-B	29,507	LF	Temporary Protective Fencing for Revegetation	\$2.00		\$59,014.00	\$3.00		\$88,521.00	\$6.00		
19	1	LS	Relocate/Reconnect Concrete Water Basin	\$2,719.00		\$2,719.00	\$6,000.00		\$6,000.00	\$2,800.00		
20-A	1	EA	Stainless Steel Bend (36" x 11.25° Bend)	\$37,789.00		\$37,789.00	\$30,000.00		\$30,000.00	\$56,900.00		
L	· · ·	`		<i></i> ,	1	<i></i>	+==,000.00	I	+==,000100	, , , , , , , , , , , , , , , , , , , ,		I

Fotal \$3,440.00
\$6,210.00
\$1,000.00
, ,
\$14,200.00
\$11,298.00
\$16,700.00
\$33,400.00
\$5,543.00
\$2,808.00
\$9,408.00
\$12,880.00
\$21,560.00
\$5,508.00
\$177,042.00
\$2,800.00
\$56,900.00

Prepared by	ehs													
Solicitatio			Contract No: C-12-039-DD NTONIO WATER SYSTEM		ors, Inc. 100 2	٩		i o			c			
			DX 2449 VTONIO, TEXAS 78298-2449 ATION OF BIDS		Western Summit Constructors, Inc. 9780 Mt. Pyramid Ct, #100 Enclewood CO 80112			Mountain Cascade, Inc. 555 Exchange Ct Livermore, CA 94550			Holloman Corporation 13730 IH 10 East Converse, TX 78109			
PROPOS	SAL:	Regional	Carrizo Project: Water Supply Pipeline		Summit (Mt. Pyra			untain Cascade, I 555 Exchange Ct vermore, CA 9455						
		Job # 10-	-8620-207		9780 Fm			Mo			Ho			
TIME &		10:00 A.	М.		We									
DATE:		June 1, 2	012									1		
	Estimate Qty	Unit of Issue	Description (Unit Price to be Written in Words)	Unit Price		Total	Unit Price		Total	Unit Price		Total		
20-B	1	EA	Stainless Steel Bend (36" x 45° Bend)	\$37,789.00		\$37,789.00	\$30,000.00		\$30,000.00	\$60,700.00		\$60,700.00		
21	8	EA	Concrete Retard	\$2,766.00		\$22,128.00	\$2,800.00		\$22,400.00	\$4,400.00		\$35,200.00		
22	10	LF	2-inch Waterline Replacement	\$59.00		\$590.00	\$15.00		\$150.00	\$6.00		\$60.00		
23	20	LF	Additional Pipe Bedding Koch Pipeline Crossing	\$108.00		\$2,160.00	\$150.00		\$3,000.00	\$16.00		\$320.00		
24	500	LF	Filter Fabric	\$7.00		\$3,500.00	\$3.00		\$1,500.00	\$5.00		\$2,500.00		
25	500	LF	Gravel Subgrade Filter Bid Allowance for Owner-directed road repair at existing county roads created by the Contractor as	\$13.00		\$6,500.00	\$52.00		\$26,000.00	\$6.00		\$3,000.00		
26	1	LS	required by County Representative and approved by SAWS (see Specification 01020)	\$100,000.00		\$100,000.00	\$100,000.00		\$100,000.00	\$100,000.00		\$100,000.00		
			SUBTOTAL BASE BID AMOUNT			\$13,420,257.00			\$13,261,304.00			\$14,258,233.00		
100	1	LS	Mobilization	\$776,103.00	5.78%	\$775,690.85	\$1,060,904.00	8%	\$1,060,904.32	\$482,900.00	3.3%	\$482,900.00		
101	1	LS	Preparing Right-of-Way Mobilization & Preparing Right of Way Sub	\$401,309.00	2.99%	\$401,265.68	\$397,839.00	3%	\$397,839.12	\$258,700.00	1.8%	\$258,700.00		
			Total TOTAL BID AMOUNT - (MOBILIZATION & PREPARING RIGHT OF WAY) Including Addendum 1, 2, 3, 4, 5 & 6			\$1,176,956.54 \$14,597,213.54			\$1,458,743.44 \$14,720,047.44			\$741,600.00 \$14,999,833.00		
CALEN	DAR DAY	'S TO CO	DMPLETE			10/31/2013			10/31/2013			10/31/2013		
						[5]			[6]			[7]		